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B of £9k0]. ofgE i A=,
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CUE RS FEOL 4o,
CUE EokEe?

CERo|A],

W > ™ >

9%

Y
<~ B ool BiAl

ol &7] : Why?(¢ll?)

« 54 ®&s}7] : That' s too bad.(L
2z sy

o Z2PH5E | o] QJAPY : Take care, (2 7})
TA5H7] : Don’ t+3¥5< YEtH<= T
(~3HA] BEA|2)

ST YERY7] It s time to ~(~3 A
7kolth)

Bel 129~130%
1o 20 30 806 bHo
6o To 8@ 90 10
MTe 120 136 WBo
Bo 160 1To 1806
Be 00 N6 20
Bc Mo BHo

1 visit: W25t} violin : HFOl 2™,
vacation : W8} §7}
2 DE QAR Q7= IA
@ AE © vj7)
3 @& A9
@ Y& 2olS 3 AY?
@ Y ool A g9
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8 A:d: Foig stm 4y
B: @ y=Hi=
9 . This is Ann’
I
o HE] ofmU7} Ao A Eol ghulo
Zh 4= gl o)l thsl) Dekar Qlssut
10 Because she has a bad cold., : 9LFs}
H = Sl 4R A=R.
Noa:de 2ag st 4y?
B Zqtof.
12 4o the dishes : 275}t
134 : 28 1o 237
B:® e, 7kaL 4lof,
146 U= 444 A= st
15027 @g&ox. ®#2g Yo,
@ Fsfalf! ® Y7t L) Aok
16 509 FAHL wentY .
1T bigger : & 2 faster : of w2
older : Yol7} o W2 taller : 7|7} & &
stronger : 10| ¢ Al
185t 42 2 27 : What do you want
to do? (U= FH< skaL A4?)
19 . o)9 wWs}7] : Because ~(ukstsl ~
=olth
* have a fever : go| Yt}
20 #)319] Ayl whe] 22T
210 = 71 (= QA
@ o] 94 vt (71 ¥sk7])
® 1 4& 7}A] gt (FA)
@ U (- dH)
® Aty ZF Al7kolof, (& S W)

22 . L} i 64] 3050 Lot

=

* get up : dojyrt
23 =4517] : That's too bad. (A & ¢t
)

42 oL eatd osp|

B pon 1+ %S YRy T ~517] ule}
(FA)

D rite — write(ATh : TR Z7} 5
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I YA WD)
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1o 20 306 80 B0
6o 160 80 90 1o
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o 160 17To 180
90 200 N0 26 23
(1) sick @cold 28 Don't 2B®

% ??’@‘%‘?

3 . havea cold : 7)o Aelch
* have a headache : F=%©°| 45}tk

b © A= A$AET o PYch (onger
than ~ : ~®t} ¢ 71)

5 gt wole ) elAe oxel Al
of tisl sp7] dhs 5L Alvkal Wt
ue,

6 - This box is too heavy, : °] AA=

Y A,
* Let' s move it together, : &7 %714},
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8 A:gal At izt ofz A,
B: e 7 st
9 O YL on? @ AT =)
@ AEoly? @ old & g Aok
® Y= 12A ABZskA| got,
104: 2% Pasies 4 mozay?
B w|¢ksiA|gE 1 4 glo], mie- wpm
AE.
1124 BE317) - Would you like to try
? (~ & EAEAZ27)
12 . paper boat : Zo] Hj
* model plane : =& H|3}7|
13. put on ~ : ~& T}, Aok, 7|t}
* take off ~ : ~= Hlt}
181t s time to ~ : ~8 Al7kolt
15 Do your homework first. (%A41%2E ®
A stAe})
161 want to swim. : b}h T35 .
17 You re welcome. : Avtol & (FrAbzo]
i35t oo 13)
18743} distol A 2418 4708 W= This
is ~.2}al gy},
19 tu) - o Agao] Y Agelojof, L2
Holl Z2H?
@ i @ ml_bsHRIRE Z 4 §lof,
20 7 115}7] : Watch out! (A1)
21 =31317] : Congratulations! (Z3}3)1)
22 213 <14} : So long. / Take care. /
Good—bye!
23 . 0|9 =5}7] : Because I'm sick. (%)
Lol W7t ofz7] wftolct)
* have a Cold D 7)ol et
25 %)== 34] 40%] ol LUt

e

P

1871 SR =gT} 13

ool =
%}%ﬂ [In 52 = W SZ LT

S E3 FEHE A A4S DEAS,

visit, violin, vacation

ohSS 3 19 QAT AS T2A 9.
(D honey @ plant ® card
@ present (® airplane

e =1 EES Yol= viEA §1 As
NS

O How are you?

® What will you do?

(® Where are you from?

@ How was your vacation?

(® When is your vacation?

oS g3k £ 299 e LAk AL
TEAQ,
O A : How was your holiday?
B I It was great.
@ A : How was the party?
B : It was fun.
® A : How was your vacation?
B : It was good.
@ A : How was your weekend?
B ! It was wonderful.
® A : How was your trip?
B : It was not fun. I was sick.

ohe HEHE E1 W57} 8ol @ Qg 1
A2,
A How was your vacation, Minho?
B : It was fun. I visited my uncle
in New York.
A : What did you do there?
B : I went to a museum,.
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6 oE= =1 2" W dAsks Ae 1=
AL,
@ The mouse is longer than the elephant,
@ The elephant is bigger than the mouse,
(® The mouse is taller than the elephant,
@ The elephant is smaller than the mouse.
(® The mouse is stronger than the elephant.

12 o2 digks 3 AI%E 28S LEAL,
A : Will you help me do the dishes?
B : Sure.

7 thx ti3kE =1 gAY o] AAIIA] 1=
AL,
A : When is your birthday?
B : May 14th. When is yours?
A @ March 7th.

13 o H3hE S 992 SHS A=A,
A * Would you like to come to my house?
B:® It was fun.
@ Try it.
® Yes, T d love to.
@ Because I' m very busy.
(® That’ s too bad.

8 TR jskE £7 28 LAk Jgke
S IEAQ,
A What do you want to do?
B: @I want to play soccer.
® I want to sing.
@ I want to watch TV.
@ I want to play badminton.
® I want to play computer games,

14 o5 21 293 BAYE AS ALEAL,
D1 go to school at four.
® I have dinner at five,
® I do my homework at four.
@1 go to bed at five.
® I play computer games at four.

910 ths H3kE &3 50l EstAl L.
A Hello. Mr. Baker speaking.
B : Hello, Mr. Baker. This is Ann’ s mom.
Ann can’ t go to school today.
A Why?
B Because she has a bad cold.
A 1 Oh, that’s too bad.

15 the& €1 38l & of AR &= Qe B
EaIA=VALN
@ So long. @ No problem,
® Good luck. @ Congratulations!
® T 1l miss you.

1 o8 B3 oj8a o3 1242,
@ A : Will you help me?
B No problem.
@ A : What do you want to do?
B : You re welcome,
® A : Let s sing together.
B : Sounds good.
@ A 11 have a fever.
B : That s too bad.
® A : Can you run fast?
B : Sure. I' m faster than you.

@ pie @ salad ® plant
@ turkey ® goldfish

44 o eatd osp|

2 O YigkE £ o) gk S AEAlL,
A : What did you do on Sunday?
B: @I went fishing.
@ I went camping,
® I went shopping.
@ I played computer games,
® I visited my grandparents.




thy Hgks £ ojojd SHOE M3t Ae
T2, -
A : How was your holiday?
B : It was not fun. / A : Why?
B : @ Because I had a cold.
@ Because I had a headache.
® Becasue it rained all day.
@ Because I had a fever.
(® Because I went to the zoo. It was
great.

o= B 2% WAME RS LEA L,

D The ruler is longer than the eraser.
@ The pencil is longer than the ruler.

(3 The eraser is shorter than the pencil case,
(@ The pencil case is shorter than the ruler.
(® The ruler is smaller than the pencil,

ke Teke ST WAt Bha Ao} s A
AEAL,

A Let’ s sing together.

I don’ t want to sing.

: What do you want to do?

- I want to dance.

- Oh, I see.

> W > W

e H3kE &3l 7 ARl olod & 5

RS

A T Will you help me?

B : Sure. What's the problem?

A : This box is too heavy. Let' s move it
together.

B No problem.

U i3s3 oo 3 F 440 HE
SHE IE2A|L,
A Will you help me?
B: @ Sure. @ Of course.
® Yes, I will, @ No problem.
® Sorry, I can't,

P

o Hi3hE =1 BAGE AL LEAL,
A My mom has a stomachache.
B : Oh, that' s too bad.
= =1 YU Yol vEA &1 AS
A=YAKN
O How about you? @ What a surprise!
® Are you sure? @ This is for you.
® I don’ t think so.
o i3s3 oA aRe] e A
oGS 1EA Q.
A Will you help me clean the room?
B : Sorry, I can’ t. I m very busy.

o dehE =1 BAIRlE 28S L2AL,
A Would you like to try this chicken?
B : Oh, it looks delicious.

s 1 1383 A% SHE LEAL,
A : What are you doing?
B:@®T m singing. @ I m dancing.
® I' m making a paper boat.
@ T m making a model plane.
® I' m making a card.

Thes =1 H3ke] edE Fol2 HiEA &
RS LEANL,

(D Put on your coat,

@ Take off your socks.

@ Put on your gloves.

@ Don’ t take off your shoes.

® Don' t take off your hat.

o d3kE 23 Ag AldE L2AL,

A : Bill, come here, It s time to go home.
B : What time is it now?

A 1t's 5:10 already. Let' s go home.
B: OK.

ohe B S3 olFo] 57 A WA T
EEENTY

A Mom, can I play soccer now?

B : No, do your homework first,.
Don’ t play soccer now.,

A . Okay.

zgm 20 .0 45
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